1. Peripheral that allows communication between system technician and 5ESS-2000 Switch (Question 6 Code C) - Harish
Through MCC technician can communicate both way by giving commands and getting the result,  ROP gives one  way communication to technician through printouts and STLWS also communicates with the technician for testing line parameters. Even if it was a both way communication Both MCC and STLWS is correct and if just communication is meant then All the above is correct. Since the question is not clear or is ambiguous  whether it is one way communication or both way communication, Question may be treated as invalid. (Key answer A (MCC) can never be correct with the choice given)
2.  Maximum how many lines or trunks can be supported by 5ESS2000 Switch (Question 10  code C).
       Bansal

No answer matches the actual value of 2L and 60000. (Key answer A Wrong) Question is ambiguous. 
3. In WiMax with outdoor CPE what is the maximum distance covered. (Question 47 code C). Question does not specifiy BSNL AT Rules.
No answer matches the correct answer as per the IEEE802.16  standard  maximum coverage for fixed WiMax CPE is 50 KM, practically it depends on the terrain condition and cannot be assisted without  this, please refer http://en.wikipedia.org/wiki/WiMAX for details. (Key answer c(15KM) is wrong)
4. CDMA, each Paging Channel supports how many pages per sec(Question 51 code C) .
Exact number of pages cannot be calculated for a second since number of pages is always said in terms of Slot Cycle which is 1.28 Sec. Even if we calculate for 1s it will be as follows. 

Minimum one page half frame is required to send one page message which is of 10 ms there by in 1Sec max 100 page at the max is possible (practically much less than this as some general page messages like system parameters takes more than one paging half frame which will be send once in a slot cycle). Paging fame format is as below. 
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None of the answer matches the correct answer. Some RTTC document wrong information are available like No. of pages per sec in 7 paging channel is 1260 and number of access channel available is 61 (actually it is 32 per paging channel) these data need to be corrected and no to be taken as the answers. (Key answer b(180) is wrong)
5. In BSNL, for implementing DOTSOFT network which of the following interconnecting method is used. Question 55 code C - Manjunath
 Dotsoft network  is implemented in Star network, All clients are connected to a switch and through Router it is connected to the Router is SSA HQ  which is connected to Main server. Like this all terminals from different SSAs for the server is connected. This is obviously a STAR network and not a BUS network. (Key answer B (Bus topology) is wrong, Correct answer is Star topology (A))
6. In network of class B IP address, maximum how many Host can be connected (Question 56 code C) . Question 56 code C – Srinivas Kumar M C
Max number of hosts that can be connected in class B IP is 65534 (216-2). None of the answer in the choice matches this answer. (Key answer A 16384 is totally wrong).
7. In 800 Mhz Band GSM how many carriers are used (Question 70 code C) .

There is no GSM 800 band as per the GSM standards.

8. For providing IPTV service on Broadband by BSNL (Question 73 code C) .
Both Type 1 and Type -2 modem with STB (Type I USB can be used for Broadband access and Ethernet for STB and in Type -2 for Broadband and STB both Ethernet can be used ) can be used so both answer A and B can be correct. Saurabh
9. Question 88 code C For extinguishing fire in live electrical equipment (Class C), CO2/Halon can be used is wrong. Please refer Wikipedia http://en.wikipedia.org/wiki/Fire_extinguisher for details. (key answer D but C is also correct)

10. In VRLA Battery, what is the normally set voltage of each cell (Question 92 code C) .
There is no such standard nomenclature called “normally set voltage” and since it is not a standard nomenclature it should have been given, what is expected and all the answers in the key are with the in standard nomenclature values and cannot be assumed what actually is expected. It can be normally set voltage in theoretically (nominal voltage) , It can be normally set voltage after manufacturing or open circuit voltage, It can be normally set voltage at float condition or It can be normally set voltage on charging condition. Question not clear, if nominal voltage is asked then there is multiple answers as per different study material, same question asked in GSM Spelization paper, there as per the answer key 2.0 Volts is the answer and here it is  2.23 given in KEYS uploaded, hence there are multiple answers (Key answer A is wrong)- Rohit
11. In case of Line parameters for POT, which of the following is wrong (Question 94 code C) . Saurabh
Insulation resistance should be > 3M Ohms not 1M Ohm there by A is wrong  also 6V DC can bias 75- 80 V ringing current and can damage telephone instrument and even the Exchange line cards  so B is also wrong. (Key answer C is not the only correct answer) 
12. Which of the following is not recommended. (Question 95 code C) .
Installing 10 Pair DP and directly connecting rest of the pairs instead of installing 20 Pair DP is not at all recommended by any means, whereas line man should check in DP for fault isolation if customer premises is door lock so this cannot be said as wrong. (Key answer D is wrong in the current outdoor pole less network , whereas B is wrong) Question doesn’t specifiy the details and hence is ambiguous.
13. With regard to maintenance check for engine Alternator set which of the following is wrong What is max Bit rate in Basic Rate ISDN connection (Question 99 code C) . Rohit
Checking starting battery voltage & terminals fortnightly is also wrong as starting battery is very much necessary for starting of engine alternator which should be checked at least once in a week and not once in 14 days (Key answer C, Answer D is also wrong).
14. What is max Bit rate in Basic Rate ISDN connection Question 2 code C) Bansal
A or B both can be correct unless the question is clear that is 128 and 144 kbps both since not specified that of user data rate or total speed of the connection, question should be clear or is ambigous.
15. To know the Line Parametrs, the command in E-10B Question 3 code C)
     No answer correct, “ABESL” Is the correct answer which is mentioned wrongly as ABESEL, The     option for answer is wrong.
16. Two Exchanges connected by 2E1 streams with CCITT#7 signalling , max how many simultaneous voice calls are possible. Question 8 code C  Divakar B M       
      Since the question is not clear whether CCS7 is in associated mode (61 voice calls in this case) or it is in    quasi-associated mode ( 62 voice calls here) or how many signaling links are to be used. The answers can be 60,61,62 voice channels. Hence there are multiple answers A, B and C, since the question is ambigous
17. Recommended temperature range temp range for EWSD exchg. Question 14 code C) Bansal
            The answer can be both A and D ( different data from field and theory) The 40 degrees temperature is the value the EWSD switch can withstand for only few minutes. In practical Scenario the temperature is not allowed to go beyond 28 degrees centigrade. Question is not clear or is ambigous. 
18. CPU Processing power is measured in what units. Question 79 code C) Bansal
There are multiple answers for this , if the processor is a Giga Hertz Processor then BIPS is valid and if the processor is Mega Hertz then MIPS is valid , the question doesn’t specify that. Both A and b can be true.
19. Which of the statement is false? Question 86 code C) Rohit
            In KEYS uploaded answer given is C. take any sorces of material VRLA is always Mtce. Free. correct answer should    be – D, that is VRLA batteries should not be connected to Conventional Power plant.

20. In CDOT MAX XL exg. Which activity is not a part of  “Daily Routine”  recommended by CDOT Question 29 code D)  Prashanth NC
Pls coordinate with Saurabh, Bansal, Harish, Srinivas Reddy)

      21.  Life of VRLA Battery    Question 92 code C)  Bansal
            The battery life depends on the number of Charges and discharges it undergoes and not on the number of years.       Question is not clear or is ambigous.
22. Types of PCB cards in OCB-283  Question 16 code C)  Srinivas Kumar MC

As per the Jabalpur Training material The no. of cards are 35.

23. With regard to Maintainig CABLE Records which of the following is irrelevant. Question 100 code D)  Latha
Reference - AIGETOA Specialization External Plant Page no. 179. there is no answer which is irrelevant.
24. Full bit rate per Voice cahannel in GSM  (Question 68 code C) Naser
The question is ambiguous since the interface ( Air or E1) is not mentioned, whether channel coding rate (13Kbps) or channel rate (16kbps) is expected is not mentioned also net rate or gross is not mentioned.
25. XEJ-16 Card how many customers can talk simultaneously (Question 19 code C) Bansal
     A or B both can be the answers if the question mentions about concentration.

26. What is GPRS bit rate (Question 60 code C) Naser/Marish
Maximum bit rate is 171.2kbps which is not there in the answer options,In practical Scenario it  may    be 115 kbps.

26. Identical LANS can be connected by using ? Question 45 code C) Niaz/Marish
The ‘D’ should have been any of the above and not all of the above.

27. To prevent neighbour from accessing which is not useful Question 93 code D) Latha.
     Disabling wireless is also not useful,since we are using the wireless.

28.  Which of the following can be used to  connect 2 different communication arch. Question 72 code C) Divakar /Chandran
          Both gateway and router can be used ,multiple answers.
29. X.25 interface works at which layer ? Question 64 code C Niaz.
Misleading due to the use of word ‘Interface’.

30. Inverse bending fading Question 46 code D BANSAL/Saurabh
Out of syllabus

